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a—F dh k| PER (kg) &% (1) =T il Ll PE (BAL)
Y3002 =4 (A4 17 17, 105 1,620 389 378 | BN 17kg
39630 EroA Y 5 853 59 59 54 BN 155
31900 X 4 5, 400 1, 404 1, 404 1,296 | BN 4kg
34140 | PHEEH I 5 1,620 65 65 65 | 5 257
Y3033  ZANAD 190 21, 492 216 76 76 | &N 190kg
Y3044 HFECH) 13 1,436 108 108 108 | B 13kg
37200 L Xx 9 A 20 8, 208 540 324 324 | B 20kg
34980 ~b E 3 238 22 22 22 | B nA
35940 AEVEAEAE ’ 13 7,020 540 540 540 | B 13kg |
Y3030 WA () 5,832 1,944 1,944 1,944 BN 3kg B
34800 B< 5 5,378 65 65 65| B 83% v h
36320 FIE L0 10 2, 160 216 216 216 | BN 10kg
36340 L% HE 13 4,071 378 378 140 | B4 13kg B
37600 21 9% 10 2,214 270 216 216 | BH 10kg )
39350 NFET 5 1, 620 32 32 32| B 501 i
Y4010 /NEF U 15 1,782 119 119 119 BWN 1518 j
71040 £ NE 2, 646 108 86 70 | BN 304
71150  LiE 1,728 86 86 86 BN 207
71189 A R ; 1,048 27 27 24| BH 0k
Y5001 KR HENE 3 626 216 216 216 | B 3kg |
30100 72\ 2 A 2L 115 14, 256 162 151 130 | i 964
30300 A% L 50 24, 840 4,968 4,968 4,968 | dbEE Sr—A
30300 A% L 30 6, 430 2,160 2, 160 2,160 | F1E 37 —2A |
30300 A% M 20 5,616 2,808 2, 808 2,808 | ALifEE 20—
33500 T &% 1 875 97 97 97 & 94%
33810 HIFH 4 2,376 2,376 2, 376 2,376 | FEIR B 17— A
33810 HHEE 4 3, 240 162 162 162 | IR 204%
Y5005 4 K2 A 12 1,026 22 16 16| K4y 6048 :
31700 | F ¥ 250 31, 860 1, 620 1,188 1,188 BESS 254 —
31800 1FHNAE 4 3, 456 173 173 173 R 204%
31930 —h¥ 3 3, 240 108 108 108 | IR 304 |
32800 =25 1 1,188 1,188 1,188 1, 188 | & & 148
32800 {25 S 10 4,320 43 43 43 |'g I 10038
34300 723 2L 10 4,752|  2,376| 2,376 2,376 L& o —=x |
34300 724 2L 10 6,048 3,024 3,024 3,024 |FEA 24— A
34300 72 c L 5 2,268 2,268 2,268 2,268 EIF 1 —=
34400 k= b 2L 36 12, 960 1,512 1, 404 1, 404 | FEA 94— R
34460 I=L E L M 5 4,018 173 173 162 |REA 248y |
34100 /I 50 9,396 1,188 864 864 AEA 1047 — A
34100  #A/IK 35 | 7,938 1,728 864 864 | = IgF Thr—A -
34200 FH /I 20 7,776 3, 888 3, 888 3, 888 | dtifgE 24— A
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4 | okt P 7 ff &
a—Fk w4 CER O OBERR | (ke) &% (F) =T i el BE H (BAL)
34571 <7 U A () . R 2,592 194 162 162 8@ 15f8
34572 AT U A () 3 2 2,376 194 140 140 | #[E 5
36200 % 3L 80 19,872 2,484| 2,484 2,484 dcimE 8/ —=A
36600 7—EAE 2L 200 29,484 3,780 2,808 2,808 JLifEiE 1047 — %
36600 7-ENE L 20 3,240 1,620 1,620 1,620 H[E 24— A
37200 L x 9N 2L 4 4,104 4,104 4,104 4,104 | K I8 17r—=
37200 L x 98 2L 12 3,024 1,080 972 972 | HE 37— X
33400 L ¥ % 6 3,024 3,024 3,024 3,024 | B 17—
33420 FU—1U—T7 L &R L 3 4,320 4,320 4,320 4 320 E& 1r—2 |
33300 7m v =Y — 5 2,614 162 151 151|7AUH  1ME
38100 4 L\ it 10 6,415 65 65 65 EEIRE 99,8y 7
31310 A9 4 2,376 119 119 119 | &[] 204

31500 /A 4 3,024 3,024 3,024 3,024 |FEIR 17—
31500 /A 4 3, 240 162 162 162 BEIE & 2048

34800 B 5 4 2, 160 54 54 54 | FEIR S 405 > k
37560 BBIT 1 1,026 162 108 108 | K4y 88y
36400 727N % 2L 10 5,940 5,940 5,940 5,940 Hi 15— =
38521 K LHUHE 3 2,916 97 97 97 &I 3048

YA008 T ABAA 3s 35 7,992 1,188 1,188 1,080 & 78— =
40400 BAEEM A A 2'S 30 6, 264 2,376 2,376 1,728 | Ei 34—
Y4016 o2 % 100 17,604 | 2,160 1,836 1,404 EFF 1075 —2 |
43420 T - 75 AEL 15 4,320 1,728 1,728 864 | [LIT¥ 347 —2
43500  Hii 30 6,912 756 756 540 | 18 [ 10 —2 |
Y4013 N=5— R 9 5,184 173 173 173 | % 30,5y 7
Y4019 == —2Y —A 6 5,616 292 292 270 g A 2005y 7 |
49100 SFF 120 20,142 2,808 2,700  1,404| 71 U EL 107 —=%
49300 F 4 T — 5 2,916 2,916 2,916 2,916 ==—T— 1/ —23%
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Hat 1,736 429,103




